The current passing through the battery in the
given circuit. is:.

B 250 X ésm

F AA_ECAAN D

(1) 1.54

7705 4

(2) 2.04
(4) 254

The electric lxcld in a plane eiectromagnetic
wave is given by

E. = 60cos (5x +1i5x 10°08 / m.

Then expression for the corresponding
magnetic field is (here subscripts denote the

direction of the field) :

(1) B}.=6t}sir§[{5x+|.5x1ﬂ";)r

(2) B

L = 2x107icos (5x+1.5x10°0T

17%-

B, = 2x107% cos (5x+l.5><_1091')T

L1y

(3

(4) B.=60cos (5x+1.5x10°nT

A pipe open at both ends has a fundamental
frequency f in air, The pipe is now dipped
vertically in a water drum to half of its length.
The fundamental frequency of the air column
is now equal tol:

i

() 2f @ %

w3

2

@) f i
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An electron (mass 9x10-3! kg and

charge 1.6x107 19C) mnwng “with speed ¢/10p
(c= spe;d ol light) is |n|c,cted into a magnetie

field B of magnitude 9% 10~ T perpendicular
to its direction of motmn ‘t‘fe wish to apply an

uniform electric field E' Iogclhcr with the
magnetic field so that the electron does not
deflect from its path. Then (speed of light
c=3x108 ms1)

— b

(1) E is parallel to 8 and
its magnitude is 27 1_(_54___ V m-!

-3

(2) E is perpendicular to- B 'md
its magnitude is 27x 104 V o

(3) E is perpendicular to -8 and
its magnitude is 27x102 V m™!
- — B

(4) E is parallel to 8 and

its magnitude is 27x102 V m~!

o

In a certain camera, a combination of four
similar thin convex lenses are arranged axially
in contact. Then the power of the combination
and the total m.agnif'n.aliﬂﬁ’in comparison to

the power (p) and m'li_mhmtmn (m) for each
lens will be, reSpectncly -

(2) 4;) and 4m \l?

(4) 4p and m?
')
{
A 2 amp current is flowing through two
different small circular copper coils having
radii ratio 1:2. The ratio of their respective
magnetic moments will bé

() p*and m?
(3) p*and 4m

1
| 3
™

| ' .Y

(1) 4:1 (2) 14

. ..__,I

((J)/l'.2 4 2:1
% ;I._ [ Contd-
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A constant voltage of 50 V is maintained | 10 = The radius of Martian orbit around the Sun is

between the points A and B of the circuit about 4 times the radius of the orbit of
shown in the figure. The current through the Mercury. The Martian year is 687 Edrth'&ﬁ:ﬁ
branch CD of the c:rcmt is : Then which of the following is the Icm..th of
ot I year on Mercury ? o
nn SN, (1) 124 carth days
10 ™~ 20 (2) 88 carth days o~
A 0N, B (3) 225 carth days 0
P (4) 172 earth days
30 |p4Q | . =
A AAA— 11 To an ac power supply of 220 V at 50 Hz, a
resistor of 20 €2 a capacitor of reactance 250
’ l, fand an inductor of reactance 45Q are
I connected in series. The corresponding current
50V oy in the circuit and the phase angle between thc
(1) 3.04 (2.;) d 1.5 A ulrrt.r; Zn;l !hijxfplzagc 1s, respectively -
) .6 A and 43
(3) 204 .(4-)/25 A (2) 7.8 A and 30°
Two gases A and B are filled at the same (3) 7,84 and 45° ,Q_@Q)

(4) 15.6 A and 30°

pressure in separate cylinders with movable -l
istons adius ¥y and.rp, respectively. On “ } l (1 X
p of radius A c-r'p . respe g 12 A wire of resistance R id cutZinto cqual

supplying an equal amount of heat to both the pieces. From these pieces two equivalent
systems reversibly under constant pressure, the resistances are made by adding four of these
pistons of gas A and B arc displaced by 16 cm together in parallel. Then these two sets are
and 9 c¢m, respectively. If the change in their added in series. The net effective resistance, of
internal energy is the‘same, then the ratio the combination is -
A -— e
ry : R R w1
/r, 18 equal to i )ﬁ (n - ) = (YN
) {1
! o 8 y P4
-\j’: i 4 (\ R R W0
3 LN
e 9 e —- i
0 2 (2 3 (3) 32 ) 16 '«.f_'G“l
L ? e |
3 .Hg 2 ] _,: /
() n (4) ' B3 13  The output (Y) of the given logic

implementation is similar to the output of
an/a gate.

? A container has two chambers of volumes Y
¥, =2 litres and V3 = 3/ litres separated by a A )
partition made ol a thermal insulator. The -
chambers contains # =5land n, = 4 moles of B Y o
ideal gas at pressurés p, = | atm and ™~
Pz =2 atm, rcbp{.b[j“’e'j""“"lu.ll the partition is J
removed, the mixture mt.-um an equilibrium A 0—] O

: = I
Pruss:]r; oll @ 'I A (1) NOR (2) AND ;
8 atm alm i
3) NAND 4) OR
(3) 1.6 atm (4 l|-4.,5.|‘.m (3) (4)

3. @, [ Contd...
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Two identical charged conducting

A and B have their centres separated by a
certain distance. Charge on each sphere 15 q
and the force of repulsion bet\ucn them is F.
A third identical uncharged conducting sphcn
isbrought in contact with sphere A first and
then with B and finally removed from both.

spheres

New force of repulsion between spheres A '1nd__

B (Radii of A and B are negligible compared
to the distance of scparation so that for
calculating force between them they can be
considered as point charges) is best given as :

3F 3F
() = (2) ?
Y 2E o B

[~
N
Consider the diameter of atspherical object
being measured with the help of a Vernier
callipers. Suppose its 101Vernier_Scale
Divisions (V.S.1.) are equal to its 9 Main Scale
Divisions (M.S.D.). The least division in the
M.S. is 0.1 em and the zero of V.5, is at

x=0.1 cm when the jaws of Vernicr callipers

are closed. v

If the main scale reading for the diameter is
M =35cm and the numbcr of coinciding
vernier division is 8, the mcasured diameter

afler zero error correction, |s_E
(1) 5.00cm (2) 5:18cm
(3) 5.08cm (4) 4.98cm

In some appropriate units, tlmc (1) and position
(x} rglatmn of a moving pe’lmclc is given by
= X%+ x. The acceleration’ ofihc. particle is

2 ; 2
(I. L -l-".-—'
"I O Gy
v
2 N
( - ¥ i 2
(2x+1> @) (x+ 1)3

47_English |
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Which of the following options represent g,
variation of photoelectric current with Property
of light shown on the x- ax:q?

Photoelectric
current

\/..

¢ Intensity of light

T

Photoelectric
current

-

]

—T =7
Intensity of light;

Photoclectric
current

Photoelectric

Frequency of light

(1) Band p
(2} A Dnly : "'_: }
(3) A and C \

(4) A and D

[ Coﬂ‘d#
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1§ A particle of mass m is moving around the | 20° " A full wave rectifier circuit with diodes (DD

origin with a constant force / pulling it )

. and s e
[owmjds 'Fhe origin. If Bohr ‘model is.used to \EltrED;)\lf shown m_thc figure. If input supply
describe its motion. the radius » of the nth orbit ", {Sg T 220sin (1007 ¢) volt, then at
and the particle’s speed v in the orbit depend v D miegA
on n as :
(1) rocn_‘f._ﬁ;' vec /3 g oL
(2) rocal’3; yoonl/3 in “

i @[{g‘ﬂ '

D,
D= ¢ R,

3y re 11“3; vec n2/3

4y rocn?3; voecnl/3
( D, and D,, both are reverse biased
: D is f'urward biased, D, is reverse
19 A bob of heavy mass m1 is suspended by a light biased -!
string of length /. The bob is given a horizontal iy
velocity v as shown in figure. If the string gets 6}0 5' |sd;e\crse biased, D, is forward
iased

slack at sof‘q'c_ point P making an angle @ from
the horizontal, the ratio of the speed v of the

e (4) D, and Dz both are forward biased
bob at point P to its initial speed v, is: L

21 A balloon is made of a material of surface
tension § and its inflation outlet (from where
gas is filled’in it) has small area A. Tt is filled

" o with a gas of'dmmty p and takes a spherical
shape of radlus R. When the gas is allowed to
flow trcL[» put of it, its radius r changes from
Rtol (zero) in time 7. If the speed v() of gas
coming out; 01" the balloon depends on r as 1

|7 and T oc S9AP pt RS then
sin vl
) |—=| -
24+ 3sin0 | 1 | | 7
. :-—a_:—!l}:—-—,y:—SSZ—
(1) =5 ""3 7T %7 2

| )]
@) (sinE}_)_.,A ™ 5
£ v ! \
W @ 73 2 2
i -
(3) [———"“} ] l 5
2+3sin® Nl g=—ly=——.8==
@ a=—gpe=pP MRS
| .I.I_..-.E
4 cos O A __l;_:__l_ ﬁ=_|v:_l_ 321
@) | 253%ine 4 a==73 2 o272

47_English |



22 A microscope has an objective of focal length
2 ¢m, eyepicee of focal length 4 cm and the
tube length of 40 em. [T the distance of distinct

" vision of eye is 25 em, the magnification in the

__, microscope is

(1) 250

T (3) 125

\'\ 23_.: Two identical point masses P and Q. suspended

.| from two separate massless springs of spring
constants &, and k. respectively, oscillate
vertically. It their maximum speeds are the
same, the ratio (/A F:) of the amplitude A,

_. of mass O to the amplitude A, of mass I” is:

(W

100
150

(2)

o 4)

5; | ﬂ ] i‘g_

- (1) ks 2) %

=

N ) k (4 K

O N 4) _El- &r
-

-4

24 A parallel plate capacitor made of circula
plates is being charged such that the surfacg™|
__charge density on its plates is increasing at a
:, constant rate with time. The magnetic field
’: arising due to displacement current is :
o (D

14
3
=

zero between the plates and nonszero
outside

zero at all places

constant between the plates and zero
outside the plates

non-zero everywhere with maximum at
the imaginary cylindrical surface
connecting peripheries of the plates

An clectric dipole with dipole moment
.5 %1076 Cm is aligned with the direction of a

l‘J‘ ‘uniform electric field of magnitude
<R ;4% 10° N/C. The dipole is then rotated through
i1, an angle of 60° with respect to the clectric

.- ..i f'lf:id. The change in the potential energy of the
5 bdli’ﬁlc is :

\[\\F\D () 1.5

(2) 0.8
(3) 1.0}

4y 1.2

©
©%47 English 1
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There are two inclined surfaces of equal lengiy
(1) and same angle of inclination 45° with the
horizontal. Onc of them is rough and the other
is perfectly smooth. A given body takes 2 times
as much time:to slide down on rough surface
than on the smooth surface. The coeflicient of

kinetic friction (i) between the object and
the rough surfice is close to

() 075 = (2) 025
(3) 040 (4) 05

De-Broglie wavelength of an electron orbiting
in the n = 2 state of hydrogen atom is close to
(Given Bohr radius = 0.052 sm)
(1Y 2.67 nm (2) _0.067 um
(3) 0.67 nm o~ (4) 1.67 nm
The Sun rotatés around its centre once in
27 days. Whal will be the period of revolution
if the Sun were'to expand to twice ils present-,
radius without any external influence? Assume
the Sun to be "a'%\p;hcrc of uniform density.
(1) 168days -~ (2) 100 days
(3)~tO5days— (4) 115 days

Iy
A physical quantity P is related to four
observations a;-b, ¢ and d as follows:
P =adb? :’LJJ
The'percentage errors of measurement in a. b,

¢ and d are 1%73%, 2%, and 4% respectively.
The percentage-trror in the quantity P is

(h 15% == @) 10%
(3) 2% 4) 13%
1_,_-—l———!—-

The plates of a parallel plate capacitor are
separated by ff:fswn slabs of different dielectri¢

- 1 i
wonstint K. v Bt 3 =
constant !\l ﬂ!'l__d\?kz with thickness Ed and 2 !

respectively are jnserted in the capacitor
Due to this, th : wio
S, Eb‘{: capacitance becomes !

times larger than when there is nothing
between the plateg '

If K} =125 i'cf;tlhe value of K| is :
(N 13

.2
G (2)=266-

(4) 1.60

b [ Contt-
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(1) 15 min: 120 km‘h - g)é
(2) 9 min;"_'f_lﬂ km/h g@ Kk~ :
- (3) 25 min: 100 km/h
(4y 10 mif:_'il'..'_:'l‘JO km/h o Y

A ball of mass 0.5 kg is dropped from a height
of 40 m. The ball hits the ground and rises
to a height of 10 m. The impulse imparted to
the ball during its collision with the ground is
(Take g = 9.8 m/s?)
(1) 84NS

(3) 7NS -

(2) 2INS

“ 0

Two cities X and Y are connected by a regular
bus service:with a bus leaving in either
direction every T min. A girl is driving scooty
with a sbctd of 60 km/h in the direction X to
Y notices that a bus goes past her every 30
minutes in the direction of her motion, and
every 10 minutes in the opposite direction.
Choose the correct option for the period T of
the bus service and the speed (assumed
constant) of the buses.

An oxygen cylinder of volume 30 litre has
18.20 moles of oxygen. Afier some oxygen is
withdrawnfrom the cylinder, its gauge
pressure drops to 11 atmospheric pressure at
temperature'27°C. The mass of the oxygen
withdrawn*ifrom the cylinder is nearly
equal to :

Fy 1
T % 5

;100
[Given, R = A9y o1k, and

omi] 12
molecular mass of O, =32,
I atm pressure = 1.01 x 105 N/m)
(1) 0.156 kg (2) 0.125 kg
(3) {}.14411&% (4) 0.116 kg

ABisa paffgil‘an electrical circuit (see figure).
The potential difference “¥, — 7>, at the
instant when current i =2 A and is increasing
at a rate of-ljamp / second is:

(2) 5volt
4) 9 volt

(1) 10 volt
(3) 6volt

%
\' A

7

Mo

Topts T

.-"""‘é
o o1e. /
ating spring mass system, a spring

15 connected to a box filled with sand. As the
box oscillates, sand leaks slowly out of the box

In an oseill

vertically so that the ai'eragc frequency m(r)

and average amplitude A(r) of the system
change with time ¢, Which one of the following

options schematically depicts these changes
correctly? :

A
m“) ¥
& : { -
e ! =
) i
w{f) /—
| -t
(2) I
E A(D)
-1
A :
w(r) : .
'y L _: t >
3 a0 ¥
£ f l
'y ks §
o(t) /’—
4 ¥ sx: "ok
) AU)///’#fT?_-
!
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A model for quantized motion of an clt:c[u:;i;
in a uniform magnetic field A states Ellm-tr-:m
flux passing through the orbit Uf‘ﬂ.ll‘.! PLIE;ck’s
is n(hle) where n is an integer. fr s oy
constant and ¢ is the magnitude of € “uncti.:f:
charge. According 10 the _111qde|. thle fnn;_r}cmv
moment of an electron In its lowest .e nf.'d
staté will be (m is the mass of the electro

hel

2m

he

—

wn

heB

—

mwm

(1) (2)

he

(3) (4)

C2Amm

A body weighs 48 N on the surface of the
earth: The gravitational force experienced by
the body due to the earth at a height equal to
one-third the radius of the earth from its
surface is :
(1) .36 N
(3) 27 N

(2) 16 N
(4) 32N

Consider a water tank shown in the figure.
It has one wall at x = L and can be taken
to be very wide in the =z direction.
When filled with a liquid of surface tension S
and density p . the liquid surface makes angle
8,(857<<1) with the x-axis at x = L. If y»(x) is
the height of the surface then the equation for
y(x)is :
L]

v A

B x

™

[

x=1L

(ta'lf,iﬁl B(x}Y=sin 0(x) = tan O(x) = id!i , g is the
; x

acceleration due to gravity)

Cdy 'F!g dy
1 —_ = = ¥ r pgr
( ) clx Y % {2} cb:z e < X
d’y 2
3y —5 =P, o 4r_ fee
dx h 4
dx? S

47_English |
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The intensity of transmitted light when 4
polaroid sheet, placed between two crossed
polaroids at 22.5° from the polarization axis
of one of the polaroid. is (y is the intensity of
polarised light after passing through;the first
polaroid):

Iy To
ey (2) =7 S
T 2L

Iy ' Io 1

A photon and an electron (mass n1) have
the same encrgy E. The

(lphoton/lelecirun) of their dﬁihBrog”c

wavelengths is: (¢ is the speed of light)

ratio

| I~ E -_"“-:

(1) & %m (2) Am “
[2m Y.

(3) eJ2mE @ c T e

An unpolarized light beam travcllihg! in air is
incident on a medium of refractive index 1.73
at Brewster's angle. Then-
(1) transmitted light is completely polarized
with angle of refraction close;to, 30°
(2) reflected light is completely polarized and
the angle of reflection is close to 60°
reflected light is partially polarized and
the angle of reflection is closéto 30°
both reflected and transmitted-light are
perfectly polarized with argles of
reflection and refraction closc-tt&f 60° and
300, respectively, ]

()
(4)

A uniform rod of mass 20 kg and length
M leans againgy 5 smooth vertical wall
making an angle of ge ith it. The other e
rests on a rough horizontal floor. The friction
force that the ﬂO(}r exerts on the rod 18
(ke g = 10 myg2) o

i
.

| Contd-~
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Three identical heat conducting rods are
connected in series as shown in the figure. The
rods on the sides have thermal conductivity 2K
while that in the middle has thermal
conductivity KA. The lelt end of the
combihation is maintained at temperature 3T
and the right end at 7. The rods are thermally
]nbUIJILLi from outside. [n Htt.'ld) state,
temperature at the lefi junction is Tl and that
at the'right junction is 75. The ratie 7,/75 is

__: -
3T ?’ 2 K /}f ;T
g X Z

2 7 , ¢

5 3
(1) 7 2 3

a 5
®) o5 @ 3

T h(. Iuneuc t,nt.r;__:cs of two similar cars A and
B are 100J and 225 respectively. On
dppl}]ll}: breaks, car A stops after 1000 m and
car B stops after 1500 m. If I and Fp are the
forces, ,applied by the breaks on cars A and B,
rESﬂLClI\’Ll\-’ then the ratio & 4 Fyis

i L3
U ® 3
2 I
(3 ) 4) 3

A qph_én. of radius R 1s cut from a larger solid
'-‘-ph(.l‘i:le radius 2R as shown in the figure. The
ratio; of the moment of inertia of the smaller
ﬁpherc to that of the rest part of the sphere
abolU'the Y-axis is :

by Y

P T
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If the molar conductivity '{J"\m) of a

0.05 ;
030 mol ! soluuon of a monobasic weak

acid is 90 S 2 mol~!, its extent (degree) of
dissociation will be

£ [ )

[Assume A} =349.65 em2 mol-! and

AZ =50.4Sem?2 mol-1.]
(1) 0.215 (2) 015
L]
(3) 0.125 (4) 0.225
o

Given below are two statements :

Statement 1 : A hypothttical diatomic
molecule with bond order#cro is quite stable.

Statement Il : As bond order increases, the
bond length increases.

L%

In the light of the above statements, choose the
most appropriate answer from the options

given below : L5
[~

(1) Statement | is false butiStatement II

:2

15 true S &

{(2) Both Statement | .mcL Statcment I
are true

i
(3) Both Statement [ and Statcment 1
are false M
L
4 Statement [ is true but=Statement [
is lalse €=}
]
.
j

The ratio of the wavelengths of the light
absorbed by a Hydrogen atom when it
undergoesn=2 — n =23 andn=4 -5 n=6

transitions, respectively, is

|
(1) r

1 -}
ok X

| Contd...
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The correct order of the wavelength {?f light
absorbed by the following complexes 1S,

A, [CU{NH3)6]3;.; B. [Co(eN)e]

o - 3

C. [Cu(HEO)‘J‘}; D. [rl(H:O)ﬁ]
Choose the currc;c__; answer from the options
given below: =
(1) C<A<D<B
2) B<D<A<C
() B<A<D< C
(4) C<D<A<B

h
If the rate constahtiof a reaction is 0.03 s,

how much time does it take for 7.2 mol 1

concentration of tl_?‘eE reactant to get reduced to
09 molL'? i

(Given: log 2 = 0301)

(1) 21.0s i (2) 6935
(3) 23.1s = @210
Match List 1 with List Il
List L List 11
(Mixture) 3 (Met.hod of
N {T‘f Separation)
A. CHCly + ::: 1. Distillation
CoHsNH, [~ under reduced
& pressure
B. Crudeoilin™™= L  Steam
petroleum :_:__% distillation
industry
C. Glycerol from 111.  Fractiona}
spent-lye {1y distillation
D. Aniline - wdttt  IV.  Simple
i o
Choose the cnrré:u;% answer ﬁfj”“"'"mmﬂ
given below ;% om the options
(1) AL By, Gatl, DA
(2) A-IV, B-ui, ¢4, D-1
LAV, B, i, Dt
(4) A-IL, By, c1, Doy
47_English |
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57 The major

4

product of the following reactiq

h

is .y |
Q (i) CH;MgBr

(excess)

(i1) HEO'}—
o o
yﬂ/@/u\/\ ( CH 3o
o i

CHs;

OH

2) CN

Clly ol (,H:
3.

o
0. &4

H,C_OH e

Which one of the following compounds ¢t
exist as cis-trans isomers?

4y 1.2-Dimethylcyclohgxane
(2r" Pent-1-ene

(3) 2-Methylhex-2.-¢ns™
@ 1,1 -l)imethyicycmgﬁépaﬂe

ot
75z
£7:

o~

P | B
oy : 1.'.'II|1
Among the following, ‘chioose the ones

e \
:ual number of atomss ¢

; _ 1064
B 212 80 Na, 00, (sy molar 5 1ﬂl
' _6¢
C. 248 gof Na;,() (;} [molar mass = -nvg]
D- 210 g DFNHOH (s) [[1_1__0[31‘ mass = 4
E‘ ]2— & ofH, (g) [mol:;f:-:rfnass =2¢ ’
C.hnom = ng(!:’:) [mi’lér mess :4 Ef‘ﬁoﬂﬁ
S¢ the i the

Biven bepy, CFrect ansher 0
M B ' b
(2) ;\, D.and g only
G) A b MConly
(4) A D gply o

»and only o
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Among the given compounds I-111, the correct
order of bond dissociation energy of C—H bond

marked with * ig -

) I>1>1I0
(3) I>11>1]
@ IM>11> ]

The standard
kcal/mol of Ba2* s :

[Given : standard heat of-formation of 502‘
1on (aq) = — 216 kcal/mol,
standard heat of crystallisation of

BaSO,(s) = —4.5 kcal/mol, standard heat of
formation of BaSO,(s) {%;349 kcal/mol]

(1) +220.5
(3) —133.0

. i -
Consider the following CEQ_TPOU"CIS :

KO,, H,0, and H,S0,.

The oxidation states of theunderlined elements
in them are, respectiVelyqy,

(1) +4, -4, and +0
(2) +1,-1, and +6
(3) +2,-2,and *6

,(4)/+|, 2, and +4

47_English |

heat.

(2) = 128.5
(4) £+ 133.0

S

%
.0f formation, in

i

W

o

£
Fn)

4

lan
O
™~
]
0
i |
=i
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}4)/ H-C=C-H

C. [Ni(en), ]

Out of the following complex compounds.

which of the compound

will be having the

mimimum conductance in solution?

7 ?SO(NHg)S cllci

) :CO(NH3)3C]3]

(3) _CO(NH3)4 c121

(4) [CO(NWJG]CE

Which one of the following reactions does
NOT give benzene as the product ?

O
I .
(2). @C— O Na Sod.":_‘l:mc

M020_1

(3) n-hexane

773K, 10 - 20 atm.

red hot Iron Tube

-

Which of the following are paramagnetic?

A. [NiCL

=
-

E. Ni(PPh3),

Choose the correct answer from the options

given below:

(1) A, D andE only

(2) A and C only
(3" B and E only
(4) A and D only,

g

al 873 K i

(
¢
B. Ni(CO), i
2+ T
D. [Ni(H,0),]
¢
.
{':
L

T 71
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N

3 {0)—OH [~

g

§%s (o)y—cu=cn, £
Match List - T with List - TI

List-1 List-11

A7 A1, BV, C-lIL, D-1L

Which one of the following compounds does
not decolourize bromine water?

Haber process I. ‘jm_éFe catalyst
Wacker oxidation 1LgPdCl,
Wilkinson catalyst iIlE:j(PPhj}sRhCI]
IV, TiCl, with
E‘?ml(cnsyi

L] .
Choose the correct answerrfgiom the options
given below :

o oP P

Ziegler catalyst

P

(2) A-L B-11, C-1V, D-III

(3) A-11, B-11L, C-1, D-IV €3

(4) A-l, B-II, C-lIl, D-IV {ii
0
Match List I with List 1L f,;
List I Lis¢ 1
(Name of (l??fi‘lcicncy
Vitamin) discase)
A. VitaminB,, L Cheilosis
B. Vitamin D I. Cgﬁl}rulsiﬁns
C. Vitamin B, I11. Rickets

R 1. .
D. Vitamin B6 IV. Pérmicious anacmia

i o
C‘homu the correct answergfrom the options
given below - o

g ¥

(1) A-IV, B-WL, €11, D-1 A
) A-L B-lL cp, pay
(3) A-IV, B-lL, C.1, Dg1
() AL, B-1I1, Cop, DoV

12
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66

_(1)

m-ethﬂelhana

Given below are two statements ;

Gtatement 1 : Ferromagnetism is consigereg
. s '
ag an extreme form of paramagnetism.

The numt{_éfr of unpaireq

statement IT &
- + 3 LAy e
electrons in @ Cr=" ion (Z=24) is the same

. that of a Nd°>" ion (Z= 60).

In the light of the above stateﬁﬁénts, choose the
correct answer from the optic_‘)g:s given below

(1) Statement [ is false but Statement Il
is true

IZ)/Both Statement | and Statement Il

are true )
' '

(3) Both Statement | and Statement I
are false t:*
T

(4) Statement I'is true but Statement I
is false v

If the half-life (t,,) for a first, order reaction
is 1 minute, then the time required for 99.9%
completion of the reaction isclosest 10

O
(1) 10 minutes L?,)/2 miinutes
N

(3) 4 minutes @ 3 n}_ihutes

i

v
The correct order of decreasing basic St
of the given amines is :

renglh

. L3 ﬁi%
bﬂueﬂamme > clhﬂﬂamlﬂcg d ine
o
N-methwani“ne > penzend o
clhannmine - N,g[i]}flcti)‘tpaml

(2) miné =~

'y

-'n:l
> ethan? | .
th}.:]a!]‘[lhn

mine z
mine

- N.-ml.-’
e

> c[hanalﬂln‘:

zenamin®

be nze nNam ine
4 N

(com?”
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Match List I with List 1I

List I List II
(Tomy (Group Number
f:t in Cation Analysis)
A. C‘:’?t I. Group-l
B. Mg“% I, Group-I
c. bef: 1. Group-1V
D. ARH 1V. Group-VI

Choose the correct answer from the options
given below :

A-1I1, B-II, C-1, D-V
2) A-1I; B-1V, C-11, D-1
(3) A-LL B-IV, C-L, D-II
(4) A-INZB-11, C-1V. D-1

Phosphofic acid ionizes in three steps with
their iorization constant values

K, . Ky, and K, , respectively,
1 2 3
while K is the overall ionization constant.

Which of.the following statements are true?
CFy

AMr=log K +logK_ +logK
A. log:g log K, Gghaz k_)b s

B. 1—[35?__(3)4 is a stronger acid than H,POy

ancf-\liﬂ’oi; :

ay—t 42 a3
D. K _EL:K_“L
' B ) 2

Choose {;}:e correct answer from the options
given be;low

XA, Band € only

2) A and B only

(3) A and C only

4')/5 C “and D only

47_English |
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Which of the following statements are true?

A, Unlll-u.ﬁ Ga that has a very high melting
pmnt{. 1(.,5 has a very low melting point.

B. On Iaulmg scale, the electronegativity
values«pt N and Cl are not the same.

C. Ar, K" CI, Ca*, and $2- are all
lSOE]éCéIOﬂIC species.

D. The correet order of the first ionization

Lnth'x:lp!cq of Na, Mg, Al, and

Si is Si > Al > Mg > Na.
E. The atomic radius of Cs is greater than

that of Li and Rb.
Choose the correct answer from the options
given bLIl‘j:;
(1Y A.C. and E only
27 A, B;__a_gld E only
(3) C and’E only
4y C mé:IE) only

X
e

Given belew are two statements :
Statement I : Like nitrogen that can form
ammonia, arsenic can form arsine.
Statement Il : Antimony cannot form
antimony pc.mox:de .
In the I|5hl oftlu. above statements, choose the
nmost .1pproprmlc answer from the options
given belowg:
(1) Statefient | is incorrect but Statement Il
is corfrett
Both Statement [ and Statement 11
are cdrrect
Both Statement I and Statement Il
arc incorrect

Mt'\tgmcnt [ is correct but

- Staterpent 11 is incorrect
v=i
Which of {ihd following aqueous solution will
exhibit hl;bfl"bt boiling point?
(1 0. 015M, Cgtl 206
0.01M-Urea

(3) 0.01MKNO;
4) 0.0IM Na,SO,

(2)

)

| Contd...
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Given below are 1wo statements : .
Statement I : Benzcnediazlomutn Si.lf[ is
prepared by the reaction of aniline with m_{rt'Jl.IS
acid at 273 - 278 K. It decomposes easily In
: dry state. .
fﬁll;tirr}ncnt II : Insertion of iodine nto the
benzene ring is difficult and hen_Cﬂ
iodobenzene is prepared through the reaction
of benzenediazonium salt with KL
In the light of the above statements, choose the
most uEpmpriate answer from the options
given below :
(1) Statement | is incorrect but Statement Il
is correct
(2 Both Statement I and Statement 1]
are correct
(3) Both Statement | and Statement [1
are incorrect '
(4) Statement 1 is correct but Statement Il
is incorrect
Identify the suitable reagent for the following
conversion.
0
CHO
@’U\OCH3 - @’
(1) H,/Pd-BaSO,
£77(i) LiAll . (ii)) H/H,0
(3) (i) AlH(iBu), (ii) H,0
(4) (i) NaBH,, (iiy H/H,0
Given below are two statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A) : _—~~_ -l undergoes S,;2
reaction faster than _-~._~~.Cl.
Reason (R) : lodine is a better leaving group
because of its large size.
In the light of the above statements, choose
tt::;;.:":rwt answer from the options given
(1) Ais false but R is true
(2) Both A and R are true and R s the correct
explanation of A
ad E;T:::c}lxeaj(i = are true but R is not the
@ s Sxplanation of A
1s false

47_English |
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¢ order of decreasing acigit

> cOTTEC ) :
The £ o aliphatic acids is -
followmw P

H-> (CH3);CCOOH >
1 HCOOH L Y
(N (CHJZQHLOOH > CH;COOH

CH,);CCOOH > (CH,),CHCOOR »

(Z{E:Hs'(:l'j_b}l > HCOOH

3) CH;COOH > (CH;),CHCOON >
(CH;);CCOOH > HCOOH
HCOOH > CH;COOH >
(CH;),CHCOOH > (CH;);CCooH

Y of the

Which one of the following reactions does
NOT beloné;"_t_jb “Lassaigne’s test™?

w/ZCuD +C —z 2Cu +CO4

5]

) Na+C*+N —— NaCN
(3) 2Na + S."-e——ﬁ——) NHQ_S
U
]
4) Na+X —— +NaX
How many products (including stereoisomers)

are expectedsfrom monochlorination of the
following campound?

LAY
H3C\ ey
/CH —;C‘H2 - CH; »-/?
H5C e
(1) 6 =4 2) 2
33 ) 5
Sugar X’ %{%ﬁ
A. s found-ip honey:
B. isa ket 5-:
i ugar. : 5.
C. exists ifi"qt and P - anomere form
D. is laevo:@aml.},_
LX: iS . 3
O‘}(‘gucrose. : (2) D_(}IUICOS':
@D Fructog 4 Maltose



Dalton’s Atomic the:ory could not explain
which of the following?

79
(1) Law of gaseous volume
(2) Law of C%Jr'iisen’ation of mass
(3) Law of c;:;;;stant proportion
w/ Law of é}i@%ltiple proportion

t &

L

Higher yield Gf"NO in ;
Ns ( )+02( )—‘ 2NO(g) can be obtained

at

80

[AH of the reaction =+ 180.7 kI mol.— ]
M1gher tel?uperature

B. lower temperature

5"’9

L

given below: i

()/)/A, C,Donly (2) A, Donly'
(3) B, C only (4) B, C,Donly
25

9%
Match List - ‘LJWIth List - I1

List-1 5% List-II
| XeO3
XeF, - f
XeOF,

81

- vl
L

sl spd; linear

w

sp3; pyramidal
. sp3d?; distorted
octahedral

V.

D. XeF 6 sp3d?; square

o
Choose the cor’rect answer from the options
given below
(1) A-1V, B-JI,qu D-I11
(2) A-lI, BIfC -1V, D-Il1
A-ll, Bl.ﬂ 0, D-1y

(4) A-IV, B-I1, c-111, DA

pyramidal

47_English |

82 Match List - I with List - I
List-T List-I1
(Example) ' cs.  (Type of Solution)
A, Humidity :“_L Solid in soljd
B. Alloys 1L Liquid jn gas
C. Amalgams E_-fll Solid in gag
D. Smoke &—[V Liquid in solid
Choose the correct’*answer from the options
given below : 13
(TY2A-IIL, B-IL, C-FD-1y
QP A-IL B-1V, C-ED-111
3) A-Il, B-I, C-IV, D-TII
(4} A-111, B-I, C-1V, D-II
83 Energy and radlup,of f"rqt Bohr orbit of

He* and Li** are o
[Given Ry, = 2.18 xﬂw-'f*J a,=52.9 pm]
() E (L12+) = _8. ?2><10*'6J
r(LiZH)=17. G“pm
E (He®) =-1% &me 16 .
r (He"’) =17. 6 pm

e

) 1—: S(Li2H = —19 ggx 10-18 J;
t (L12+) = 17.6 pm
E (He*) = —8.72x10718 J;
r,(He™) =264 _pm

(3) n(LF*) -8. 3:3><10 18]
r (Li2") =264 a_[;fgn
E,(He") = ~19:62x10718J;
r (Het) = 17.6:pm

(4) E_(Li%*) = -19:62x10716J;

r (L12+) = 17.6-pn
E (He) = -8. 72&10*16 J;
- r,(He™) =26. 4 pin

84 Whlch among the following electronic ¢

configurations belongto main group elements?
A. [Nel3s' % B, [Ar]3d°4s?

¥

10 4.1
C. [1<r]4d'°5525p§ ¥ D. [Ar)3d74s
B, [Rn]5r06d27s%
Choose the correutwanswer from the option
given below : b
A1) AC and D onl}’ (2) B and E only
})/A and C only. (4) D and E only
15 [ Contd...
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C(s) + "Hm(t’.);"—> CHy(g), AH=-74.8Kk] mol~!

Which of thc following diagrams gives an
accurate representation of the above reaction?

[R — reactants; P — products]

]:ncrg) P
(kJ mol™")

T1r

— Reaction progress

Ly

74.8
M

Encr\g}fi
(kJ nm_l_?.,_] )

i =

—> Reaction progress

fEe

Encr;;’-
(kJ mol™1)

7 R I?:s

e
[ |

,—> Reaction progress

I 748
p

5
— Reaction progress

(3)

Enuré;’i
(kI malzl

w J

i

b]
Predict the mdjt}r product ‘P* in the followi ‘ing
sequence of I‘LElClI()nE- -

HE .|: [1_}_ HBr, benzoyl peroxide
@/C %-«_H (i) KCN
!___- ~ » P

(1i1) Na (HJ,}FC.,HSOH

CH
(3) CH:NH; (4) ’
NC

16

87

88

89

90

[dentify the correct orders against (he

mcnlioﬂe
1,0 > NH; > CHCl, - dlpofe momem

Pmpeny

—
L

pﬂ.rs on r.,entral atom 44
c. o-H>C-H?> N-O - bond length
D. N,> 0, Hy—bond enthalp;
Choose the correct answer from the Options

given below :
() B,C only

I}J/B- D only

(2) A, D only

(4) A.Conly

)|
Total number of possible isomers (both
structural as well as slcreuisolncrjé)éfof' cyelic
ethers of molecular formula C,H;O is -

(1) 11 r.f)”e ‘
3) 8 ) 10 i

For the reaction A(g)=12B(g).

backward reaction rate constant is hl;__her than

the forward reaction rate conf.tanl; b\ a factor
of 2500, at 1000 K.

f'i
[Given : R = 0.083] L atm mol+K1)
r - i 1
Kp for the reaction at 1000 K is ‘:‘:

(1) 0.021 (2) 83.1 ¢
BA2077x 105 (4 0033 ©

b
& L}

.

i

3 moles of liquid X and 10 moles of liquid Y
make a solution having a vapour pressure ﬂf
70 1orr. The vapour pressures of pure X and _'&
are 63 torr ang 78 torr reqp“uwhﬂk rhich of

the I'uilmung, is true regarding 1§1e1dwtﬂb"d
solution? ™

he
(1) The Solution has volume !:“'m?r thap ¢
Sum of Indiyidual velumes. (&

2)

jon.
The Solution ghows positive: déu'lll‘i‘

jation-
L}" The Solutign shows nﬂgﬂuw, dC\l

(4) The Solutipn is ideal.

| contd-



which of the following is the unit of
productivity of an Ec§__};§;stem?
(1 (KCal m2yyr! .~

01

o w2 o
(3) KCal m2 i
(4) KCal m—3 Y
' ' i

92 The first rnenstruatimgrizls called :
(1) Ovulation
(2) Menopause
& Ménarchc
(4) Diapause

93  Given below are t\{é‘féstatements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A) : All v;gEE:;cbrates are chordates
but all chordates are not vertebrate,

Reason (R) : The members of subphylum |
vertebrata possess notochord during the
embryonic period, the notochord is replaced by
a cartilaginous or bony vertebral column in
adults. :

In the light of the above statements, choose
the correct answer f_‘rqm the options given
below : e
(1) A is false but Riisitrue
(2) Both Aand R ;ll’(."t?l,l(. and R is the correct
explanation of AT
(3 Both A and R are true but R is not the
correct explanation of A
(4) A is true but R is false
&7
94  Genes R and Y followsindependent assortment.
IFRRYY produce roufidiycllow seeds and rryy
produce wrinkled greénseeds, what will be the
phenotypic ratio of lhc'_]"2 generation?
(1) Phenotypic ratio =9 : 7

(2) Phenotypic fatio-1 : 2 1 1
(3) Phenolypic ratio - 3 ; |
@ Phenolypic ratio - 9 : 3 : 3 : |

47_English | 17
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Given below are two stitements

S : I
Fr::;ment I: The‘.j DN,?_x_,f_‘ragmenls extracted
r gel_ electrophoresis can be
;onstructaon of recombiﬁéilLD N
a::t;a;::;lél : Smal]cr..-sizc_ DNA fragments
e opsery near anode while larger fragments
nd near the wells'in an agarose_gef’
In the light of the above statements, choose.the
[I}OSt appropriate answer from the optio
given below : o

(1) Statement [ is incorrect but statement 11

sed in

Is correct
@/ Both statement 1 an:_d.;statement I1
are correct e

(3) Both statement [ and-statement I
are incorrect :

(4) Statement I is corréE't'z but statement 11
is incorrect

What is the main function of the spindle fibers
during mitosis ? '
(1) To regulate cell grd’ﬁﬁh
(2x To separate the chrg'ﬁjésorﬁes
(3) To synthesize new DNA
(4) To repair damaged pNA
; sl
How many meiotic and mitotic divisions need
to occur for the dcvclop'ment of a mature
female gametophyte from the megaspore
mother cell in an angiosperm plant?
(1) No Meiosis and 2 Mitosis
(2) 2 Meiosis and 3 Mitosis
(3r | Meiosis and 2 Mitosis
(4) 1 Meiosis and 3 Mi_!;qzisis

' T4
Identify the statement that-is NOT correct.
(1) Constant region of heavy and light chains
are located at C-terminus of antibody

molecules. J
(2) Each antibody has two light and two
heavy chains.

(S'J/The heavy and light chains are held

together by disulfide bonds.
(4) Antigen binding site is located at
C-terminal region of antibody molecules.

[ Contd...
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Consider the following :
The reductive division for the human

A.: 2 H -
female gametogenesis starts earlier than
that of the male gametogenesis.

B. The Enp between the first meiotic division
and the secoud meiotic division is much
shorter-for males compared to females.

& The first polar body is associated with the
formation of the primary oocyte.

D. Luteinizing Hormone (LLH) surge leads to

disintegration of the endometrium and
onset of menstrual bleeding.

Choose the correct answer from the options
given below't

(h B andgc ':are true
(2)
Qf A and C -are true

(4) BandD are true

A and B are true

¥
et

Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Celis of the tapetum possess

dense c}mp!asm and generally have more than
one nucIeus .

Reason (R) Prcscnce of more than one nucleus
in the tapétifm increases the efficiency of

nourishing the developing microspore mother
cells, i

[n light of the above statements, choose the

most appropriate answer from the o

tio
given bclow* prieng

(I Ais fa]se but R is true

(2Y Both A-and R are true and R isthe ¢o
explanation of A e

(3) Both A and R are trye but R is

correct explanatmn of A NOT the

4) Ais truc but R is false

47_English |
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dﬂd white selectable markers haye
chmpcd which differentiate
¢ colonies from non-recombinany
the basis-of their ability to produce
he presence of a chromogenic

The blue
been de
recombinan
colonies N
colour int

substrate.
Given below are fWo statements about this

E‘""

i
=i

method:
Statement I 2 « The blue coloured colonies have

DNA insert ih thc ,plasmid and lht:\ are

identified as rc:.ombmdnt colonies.

gtatement 1T : The colonies without blue

colour have DNA insert in the plasmid and are

identified as recombinant colonies.

In the light of the above statements, choose the

most apprnprntc zmswu from the options

given below : _h!

(1) Statement [ 1‘; 1qcorrccl but Statement Il

is correct ey

Both Statement;l and Statement 1]

are correct o3

Both Statementil and Statement 1l

are incorrect w1

(ﬁ')/Stalument I is correct but Statement I
is incorrect : )

(2}
(3)

‘:31

In bryophytes, the gemmae help in which one
W :

of the following?

(1) Gaseous cnchgt}__ge
(2)Sexual reproditetion

(3) Asexual reprodiction

(4) Nutrient absc}}ﬁion

Match List T Wllhﬂﬁst IL

List I List 11
A. Adenosine I. Nitrogen base
B. Adenylic acid‘j‘-‘]L Nucleotide
C. Adenine 1. Nucleoside
D.  Alanine :,;:W Amino acid
Choose the Optiop,gw,[h all correct matches.
(l) -1 B, cipdp.gy
A=, Blvc'ﬁ D-1
(3) A-lll, By, CIVDI
@ AL B, 'y

| Contd..- |



pedigree. find out the
of a child having no
crier (has the disease
of the gene) in Fy

with the help of given
probahi[__i_t}' for the birth
diseaserand being a ca
mutationiin one allele
generatipn.

E:‘"\-:.

£

W

Fo [

!
D Unaffécted male
i
- At'fi:%tc_d male

@ Carrierdfemale
g

O Unaf_'i"ﬁ;itc:d female
. Affegied female

1/4
1/8

(1Y Zero
@1
£

(2)
(4)

i i .
103 , Consider, the following statements regarding
unctiori;,ﬁf adrenal medullary hormones :

A. It causes pupilary constriction

B. 1t ista hyperglycemic hormone
C. It Fauses piloerection
=i
D. It increases strength of heart contraction

Choose the correct answer from the options
given b%lgw :
(1) D E)‘__rlily
(2) Cand D Only
(3) B,Cand D Only
(4) A,;:Q;and D Only
(e
106 Which of the following is an example of g

L]

zygomotphic flower? :
1) Chilli (2) Petunia
(3) Datura (4) TPea

47_English |
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ll]'.lklf‘s\ l.'no proposed that the genetic code for A

acids should be madea up of ino

) . Lup of three nucleotides?

(1) Franklin Stahf™} '
(2) George G_arrj.o"{,@?E
(3) Francis Crick .
(4) Jacque Mono@;,;
L)

108 Given below are u‘-;ﬁ; statements :
Statement 1 In° ccosystem, there is
unidirectional flow of energy of sun from
producers to consumers.

Statement I1 : Ecosystems are exempted from

ond Jaw of thermodyhamics.

In the light of the agh‘;.fe statements, choose the

most appmpriateg_:_a:nswer from the options
5

given below : ; .
(1) Statement | is;incorrect but statement 1
is correct 1£)
(2¥ Both statement-1 and statement I
are correct ¥ '
(3) Both statement 1 and statement 11
are incorrect
(4) Statement 1 is‘;ﬁ?rrect but statement 1l
is incorrect &y

Feery

109 Sweet potato and {pdtato represent a certain
'§K1ype of evolution. Select the correct
combination of termsito explain the evolution.
(1) Analogy, divc%nt
(2) Analogy, comi_e_;lgenl
(3) Homology, di{.rei'gcnt
(4) Homology, convergent

All living member%f the class Cyclostomatﬁ
are: i

113{

P

(1) Ectoparasite {%;(2) Free living

(3) Endoparasite £=(4) Symbiotic
N

e

111  Histones are enricheq with -
(1) Phenylalanineié; Arginine
(2) Lysine & Arginine
Q,}/Lcucim: & Lysine
(4) Phenylalanine & Leucine

[ Contd...
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112 Which one of the followlnf:_ ‘-_qlglle'(_iqh
represents the Verhulst-Pearl Logistic Groy

of population? &

48]
dN - \r[ﬂj
(1) cdt %‘If
N
2 Hr.f\r = .r[ K.L“L‘I\I]
(2) 0 K
o=t
dN K-N
— =N
3) dt " [ K ]
<
w/ﬁ — r.’\r[ﬂk"{-.ﬁ“ K J
t '-,Ir-'-i-'\‘r
£
-'-;\5

113 Given below are two statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).

" Assertion (A) : The primary function of the
Golgi apparatus is to package the materials
made by the endoplasmic reticulum and
deliver it to intracéllular targets and outside the

Sufly .
cell. )
L
Reason (R) : Vesicles containing materials
made by the enddplasmic reticulum
¥Ihe cis face of flie Gol

R 5 . £ "}'

gdre modified and relea
IBof the Golgi apE;ratus

T

fuse with
gi apparatus, and they
sed from the trang face

In the light of the above statements, choose the

‘J. ]0‘-\ &

(1) As false bu:I R is true

(2) Both A anm are true
explanatiofn of A

@7 Both A ani

ot

correct exp]an a

and R s the correct

are true but R jg
tion of A

(4) A s true I:Yu_ti R is false

not the

47_English | .
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of the following Statements a
1

icl bout
114 ]\:i:;:;]sco is Hucq - b ‘ .
it catalyzes the Carboxylation of Rypp,
@) Itis actiye,f only - l'hc dark.
(3) 1t has Higher allinity for oxyeen
carbon digxide.
(4) Itis an enzyme involved in the photglyg;g

of watef,—s

:
il
¥

{15 Match List - 1 with List - II.

List - 1 . List - 11
A. Progesterone I Pars intermedia
B. Relaxin g3 1. Ovary
C. Melanocyte; Il. Adrenal
stimulatinghormone Medulla
D. Calccholziﬁ'ﬁm:s IV. Corpus luteum

Choose the {q;;rect answer from the options
given below ,‘:},
(1) A-IIL, B-Il; C-IV, D-1
(2) A-IV. B<E C-1, D-11I
(3) A-LV, B-II, C-1I1, D-I
(@Y AL, B-1V, C-1, D-IN
116  The protein partion of an enzyme is called :
(1) Pmsihclij:".—group .
(2) Cofactor— .
() Coenzyme'
Apoenz%{%e
Which of thc;;‘iﬂllowing enzyme(s) are NOT
essential for gehe cloning?
A,

117

Restriction €nzymes
DNA ligase

DNA miitise

DNA 1‘cgg}nbinasc
DNA pogsfjnerase
C'hoose the clu?:rect
Biven below iy

(1) B and G:(’ji][},
(2) Cand D3 ly
(3) A and g only
(4) Dand E only -

B.
C.
D.
L.
ons

pti
answer from the op
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which of the following 1yP€ of immunity is

(18 |
present at the time of birth and 1s a non-
specific type of defence in the human body?

(1) Humoral Immunity<h

{7y
(2) Acquired lmnunuw

M!umle Immunity &M

(4) Cell-mediated lmmhml}J
[Jr_._r

(19 Which factor is important for termination of

s{aﬁ' transcription? -
(1) v (gamma)

(3) o (sigma)

(2) o (alpha)
4)_.p (th
)0 (¢ 0)
E"‘“}
120 Which of the Fullowmg hnrmoncs released
from the pituitary is actually synthesized in the

3

wpothalamus ?
(n Adcnocortlcntrophic hormonc (ACTH)

(2) Luteinizing hormone- i[_l 1)

(3) Anti-diuretic hormone (ADH)

“) Follicle-stimlllatingilymone (FSID
1

121 Which of the tollowmg mn:rohu is NOT
involved in the pru.paralmn of household

s

products?

P

Wi

A. Aspergillus niger
B Lactobacillus
C. Trichoderma polysporum
" Succharonyces L'ere_v:fs."ac
74 Prr)p:'onfbac:!erfmn ﬂr}u‘rmmﬁ

Choose the correct answer from the options

=1
!
e mlee

given below: ::i
(1) Cand E only o
(2) A and B only ‘\fi;

pil
Mﬂ. and C only i

@) C and D onl¥

47_English |

21

122  Given below are two statements *
Siia.icmcnt [ : Fig fruit is a non-vegetarian fruit
as it has enclosed fig wasps in it.
bhtcn;cnlt Il : Fig wasp and fig tree exhibit
mutual re allonshlp as ['g wasp completes its
life cycle in fig f‘rmt and fig fruit gets
pollinated by fig wasp
In the light of the above ‘;tatcmenls choose the
most appropriate ansnycr from the options
given below : 4
(1) Statement [ is mcorrect but statement 11
is correct
Both statement [ and statement 11

are correct
Both statement Ita;nld statement [l

are incorrect o)
Statement | is correct but statement 1l

is incorrect Ol

I“

3
4)

Role of the water! vascular system in
Echinoderms is : ‘M

Respiration and [EGcomotion

Excretion and Locomotion

Capture and transport of food

- Digestion and Resprr'ttlon

Digestion and Excretion

Choose the correct ansjwer from the options
given below : ,., i

_(,.ld/B D and E Onlym,

(2) Aand B Only &

(3) Aand C Only &

(4) Band C Only 5

|

123

mOO® g

After maturation, in primary I_ymphmd organs,
the lymphocytes migrate for interaction with

antigens to sccond"lry:l_lymphold organ(s) /
tissue(s) like: vy

124

)
A. thymus B., bone marrow
C. spleen D.; lymph nodes
E. Peyer’s patches {~

Choose the correct answer from the options

given below: \t

(]) C, D, E only L
(2) B,C D only ™
(37 A, B, C only

(4) E, A, Bonly
[ Contd...



125 Match List 1 with List 11 2

X

List 1 List 11
A. The Evil Quartel L. Cryopreser.valion
B. Ex situ r_j 1. A\icn. species
conservation invasion
C. Lantana (=i 11l Causes of
camara i biodiversity
r.\ losses
D. Dodo L” JV. Extinction

Choose the option;.u;frith all correct matches.
(1) A-lIL B-1L. C-1V, D-1
(2) A-lIL B-IL C-I, D-IV
(3) A-lIL B-1, C-IL D-1V
(4) (AL B-IV. Goll, DL
(7%
126 Read the followingstatements on plant growth
and development. —,

A. Parthcnocarp}i,'_\'ﬁ;an be induced by auxins.

B. Plant growth ::!-_ggulators can be involved
in promotion.as well as inhibition of
growth. 1

C. Dedifferentiation is a pre-requisite for re-
differentiation.

D. Abscisic acid is a plant growth promoter.

E. Apical dominange promotes the growth of
lateral buds. g3

Choose the optionzwith all correct statements.
(7 B, D, E onlyZ"(2) A. B, C only

£,
H
B

s,

(3) A, C,E only gf;(at) A, D, E only

o
J27 Match List 1 withglsist I1.
List 1 i List IT
A. Peridophyte L. Salvia
B. Bryophyte  IL Ginkgo
C. Angiosperm . Polytrichum
D. G : (M 5 3
ymnosperm__ V. Salvinia

Choose the option-with all correct matches
(1) A-IV, B-111, €211, D-J |
@ AL BAV, 1, DI
(3) A-IV, B-Ill, 1, D-11
(4) AL, B-1V, Gaf, D-I1

47_English )
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128

129

130

131

132

why can’t insulin b€ given orally to diabeyj;

rents”? o i '
pa'ucnls i(}a\-’ﬂilablhty will b&_:__:_l_ncreased

1 . . o5
;;{Humﬂﬂ body will c||c1t;;'§=2r0ng immune

response -
3) it will be

(G tract

(4) Because of

digested in Gastro-Intestina]
structural vatiation
0N

14

"
3

which one of the following is the characteristic
‘t? ]
feature 0f gymnosperms? .
ol Gvmnosperms have flowers for
reproduction.

(2) Seeds are enclosed in fruits.
(3) Seeds are naked.
(4) Seeds are absent. i
(7}
Frogs respire in water by skin»-and buccal
cavitf? and on land by skin, biccal cavity and
lungs. [

Choose the correct ans;f:r from the

following : e

(1) The statement is f'als:e':ifor both the
environment ¥

(.25. The statement is true for water but false
for land

(3) The statement is true for both the
environment By

(4) The statement is false fq?l:_;ﬂ:valer but tru¢
for land " 4

i
S g L, .
llﬁ'ncmg of specific mRNA“’*is possible via
RNAi because of - &

4,2\

(1) Non-complementary ssRN

(2) Complementary dsRNA' |
(3) Inhibitory ssRNA .

4 Complemcntary tRNA

Twi . oy . -~ or
Wins are bomn to 3 family (hablives next dO

to : ey hich
uryou_ The twins are a boy 8102 girl- ¥
the following mygt be truc‘ff?'i,'

: -r‘h‘:)’ have 759, idmtiﬂ'_‘i{'}“ﬂic comenl.
(3; r—:—\:zi E::I'C? |n0n02}agg)[ii: h}"i?s-
(4) They ‘\:- Iraternal lwms-‘]'!:iu:i.’.h
fli‘rtilizm?re conceived I

on, =l

in yitro
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134

135

47

Match List T with List 11 -

List I List 11
A. Scutellum ;_'_# [. Persistent
nucellus
B. Non-a]bumingi[;] 1. Cotyledon of
seed s Monocot seed
C. Epiblast :: [1I. Groundnut
D. Perisperm - IV. Rudimentary
cotyledon

Choose the option with all correct matches.
(1) A-IL B-1v, C-III D-1

2x~ A-l1, B-l11, (,IV D-I

(3) A-T1V, B-Ii1, L-ll, D-1

(4) A-IV, B-IL, €I, D-II

In frog, the Iicnnli{hrtui system is a special
venous connection that acts to link :

(" Kidney and lower part of body

(2)
(3) Liver and kidoey

% -5""!; -
(4) Kidney and n‘lg__{:slmc

Liver and intestine

Y

Match List -1 witg,]l_:'?llist - 1L

List - I V) List - 11
A. Heart it I.  Erythropoietin
B. Kidney “ " II.  Aldosterone
C Gastro-intestinal 1. Atrial natriuretic

& factor

. i, Secretin
D. Adrenal Cortex IV. Secr |
Choose the correctianswer from the options
given below * !_?J I

1. BJ, GV, DAl
) A-ll, B-L C-1lE D-1V
(3) . A-1V, B- 11, C-1i. D-1
4) A-L B- 1, C-1Y. D=1

_English |
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136

137

*

-

Cardiac activities of the heart are regulated b
e ‘.‘:‘

_A/{Iodal tissue t'"* i

e}
i

A special neura] ccnm. in the medulla
oblongata

L
C. Adrenal medullary hormones

p/ﬂ\drenal cortical horn':ofles

Choose the correct answer from the options
given below :

B

(1¥”A, B and D Only

(2) A,Band COnly &%

i

.
oy
L g

(3) A.B,Cand D

(4) A, C and D Only 11

Streptokinase produced by bacterium
Streptococcus is used for &5
k¥
(1) Removing clots fromrblood vessels
I‘;-“I-Iii
(2) Curd production £

w,.;: ]

(3r” Ethanol produclion

(4) Liver disease treatmen

ag
It
Lk
]
X
t

Who is known as the f'a{t'__ﬂ_;er of Ecology in

India? b
£
(1) Birbal Sahni ™
&%
(2) S.R. Kashyap ‘“’:j
(3) Ramdeo Misra -

(4) Ram Udar

[ Contd...



139 Given below :are two statements : One 13
labelled as Assertion (A) and the other 15
jabelled as Reason (R).

Assertion _{A) . A typical anfertilised,

angiosperm embryo sac at maturity is 8

nucleate and 7-celled.

Reason (R) : The cgg apparatus has 2 polar

nuclei.

In the light of the above statements, choose the

corrcctbansx\‘t:r from the options given below :

(1) A is false but R is true

(2) Both A and Rare true and R is the correct
explanation of A

@(Bmh Aand R are true but R is NOT the
correct explanation of A

(4) A is true but R is false

140 Neoplastic characteristics of cells refer to :
A. A mass of proliferating cell
B. Rapid growth of cells
C. lnvasion and damage to the surrounding

tissue _°
D. Those confined to original location
Choose the correct answer from the options
aiven belowiis
y B,C,Donly (2) A, B only
(3) A,B,Conly (4) A, B, Donly
141 Given beloware the stages in the life cycle of
pteridophytes. Arrange the following stages in
the correct sequence.
A. Prothallus stage
B. Mciosiél.in spore mother cells
C. Fenilisation
D. Formation of archegonia and antheridia in
gametophyte.
E.  Transfer of antherozoids to the archegonia
Chm;:ci‘;“-‘f‘:ﬂcc of waer:
given bcI:JLWT:?.rrcm answer from the options
UE, D, CB, A
(2) B,A,D.E,C
(3) B,A,E, C,D
(4) D,E,C,A,B
47 English]  ©!
=l . 2u

142 ~Given bel
[abelled as 7
[abelled a8
Asscriinn
pollinnted
do not produc
Reason (R) *
amount of po! ]

oll inated flowers.

In the light

N 4pe two statements : Ope jg
SSCIti”“ (A) and the other i:g,
R_eat‘i(jﬂ (R)' -

. Both wind and water
flowers are not very colourful and
¢ neclarl.

The flowers produce enormous
|Lﬂ grains in wind and water

of the above statements, choose the

correct answer from the options given below ;

(1) Als false
Both

but R is true
A and R are true and R is the correct

explanuliun;or A

(3) Both A and

R are true but R is NOT the

correct explanation of A
(4) Aistrue but R is false

143 Which one of th

ésfollowing enzymes contains

‘Haem" as the prosthetic group?

(1) Catalase ~
(2) RuBisCo -.;

(3) Carbonic anhydrase
(4r Succinate dehydrogenase

T

144
List - 1
A Emphysemaz.

%

o
i3

il

et

her

wh

Y
P
LS

!
Pectoris ol
' L8

C. Glomerulo- ___g‘]”
nephritis B

Al

B. Angina ™

D. Tetany E_T;IV
[ i

ipeasad

C ; L]
hoose the cortect answer {rom the

Biven below -

-

Match List - T with List - 1L

List - IL

Rapid spasms in muscle
due to low Ca™ in
body fluid

Damaged alveolar
walls and decreased

respiratory surface

. Acute chest pain when

not enough oxygen
is reaching 10 heart
muscle ‘
luﬂnmmuli(m of
f kidney

glumcruli 0 .
npilOt'lb

A-1, B-111ig@
.."\. "T-.Iv! [)'l
(2) A-IIL B-1'&py pal
8) A-IL, B-1,Clyy '1)-1‘*’
) AL BAvIE . p-!

| Co ptid
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{ is NOT correct with

Find the statement tha
t stem.

45
regard 10 the structure of monoco

(1) Phloem parenchyma is__ ftlll?scnt.

(2) Hypodermis is parenchymatous:

(3) Vascular bundles are scattercd.

(4y” Vascular bundles are conjoint and closed.

ing statement is

which of the follow '
f the male frog

correct about location ©
copulatory pad ?

146

(1) First digit of the fore llmb
(2) First and Second digil?;:i__f:: fore limb

(3) First digit of hind limb ~

(4) Second digit of fore lirrib

-
£

147 Given below are two statements :

Statement I : The primary source of energy
in an ecosystem is solar energy.

. The rate of production of
pho__tq;symhesis in an
t primary productivity

Statement 11
organic matter during
ecosystem is called ne

(NP P)«- £ %3
bove slatérﬁcnts._ choose the

In the light of the a =
answer from the options

most appropriate¢
given below :
(1) Statement I is incorrect but statement I|

9,
)

is correct

(27" Both statement 1 and statement 11

are correct

t | and statement Il

o)

Both staternen
are incorrect

(3)

Statement is correct bul statement [I

is incorrect

(4)

1_English |
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148 Identify the part of a bio-reactor which is used
.;ﬁ as a foam braker from the giw:n figure

e

B

= - .
| A : E

‘*:J”IE/‘D

(1 C Q) A

(3) B @ D

149 Polymerase chain reaction (PCR) amplifies

q( DNA following the equation.
(1) 2N? (2) N2

@ 2° () 2n'+ |

150 Match List - I with List -Il

List - 1 List - I1
A. Head 1. E._ﬁfa}'mes
B. Middle picce 1l Sperm motility
C. Acrosome 1l Enérgy
D. Tail V. éé;etic material

Choose the correct answer from the options

given below : f-

(1y A-I1L, B-II, C-1, D-IV ¢

_2y7A-IV, B-lI, C-L, D-11 .

(3) A-1V, B-lIL c-11, D-I
C(4) A-lL, B-1Y, C-11, D-1

| Contd...
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Given below are two statements :

ﬁ{ Statement I : In a floral formula @ stands for

152

zygomorphic nature of the flower,

and G stands for inferior ovary.

Statement IT : In a floral formula @ stands
for actinomorphic nature of the flower
and G stands for superior ovary.

In the light of the above statements, choose
the correct answer from the options given
below :

(1)

Statement I is incorrect but Statement [I
is correct

Both Statement [ and Statement 11
are correct

(3}

Both Statement 1 and Statement 11
are incorrect

Statement | is correct but Statement 11

(4)

is incorrect

From the statements given below choose the

correct option :

A The eukaryotic ribosomes are 80S and
prokaryotic ribosomes are 708,

877 Each ribosome has two sub-units.

{/The two sub-units of 80S ribosome are 60S
and 40S while that of 70S are 50S and 308,

D.  The two sub-units of 80S riboseme are 608

and 20S and that of 708 are 508 and 208,

E.  The two sub-units of 80S are 60S and 308
and thal;of 70S are 508 and 30%.

(1) B, D, ;'E 'are true
@/A. B,‘Cj—are true
(3) A, B, D'are true
(4) A, B, E are true

47_English ]
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154

Each of the following characteristics Tepreseng
it a ' fla R

o K.mgdom prnpOSLd h} W hlttaker. Arrange
the following in increasing order of complexity

of body organization.

A@ Multicellular heterotrophs with ce|] wall
made (}Fchilm. :
i )Heterotrophs’ with tissue/organ/organ
TN gystem level o_I_ body organization.
sProkaryotes with cell wall made of
pol}'s_accharid::s and amino acids,

Eukaryotic autotrophs with tissue/organ
evel of body organization.

E ~Eukaryotes with cellular body
@(Erganiznlion. 1 :

D

Choose the correct answer from the options
given below : b

(WC. E.A, B, D~
(3A.C.E.B.D

(34C. E. A, D, B:
M. E.D. B

| & ¥

The correct sequenée of events in the life cycle
of bryophytes is |

ﬁ@Fusinn of antl{e;‘;),zoid with egg.

B.O Attachment of gametophyte to
substratum,

C@/\Reduction division to produce haploid
spores,

Formation of sporophyte.
E.@elcase of am'ﬁé"mzoids into water.

Choose the correct dnswer from the option>
given below - )

(I) D, E,A‘ B,Cf
@ D.EAC W

9’ B, E’ A, C& D:;

@) B,E,A, D, ¢
| Contd--
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whigh arc correct: t
/Cun‘lpuled tomography and magne 1(;‘
‘fésonance imaging detect cancers o

[ ]
‘internal organs.

_.rChcmol]w]‘apculics drugs arc used to Kill

B.
ynON-cancerous cells. _ .

Cs g -interferon activate the cancer patients
Ymmune system and helps in destroying
sthe tumour. .

D. “Chemotherapeutic drugs are biological
response modifiers.

E. In the case of leukaemia blood cell counts

are decreased.
Choose the correct answer from the options
given below:
(u/,f{ and C only (2) B and D only
3) D and E only (4) Cand D only
s
Name the class of enzyme that usually catalyze
the following reaction :
S-G4+S* - S+8§"-G :
Where. G —» a group other than hydrogen
S — a substrate
S#* —» another substrate
(2 Hydrolase
(4) Transferase

(1) Ligase
(3) Lyase

O

157 Find the correct statements :

H{'A, C, D and [ (-)HI}'

A. (In human pregnancy, the major organ
‘Systems are formed at the end of 12
“weeks. T

B. “In human pregnancy the major organ
systems are formed at the end of Sﬂﬁ‘r}‘eks_

" In human pregnancy heart is formed after
rone month of gestation.

n human pregnancy, limbs and digis

«develop by the end of second month,

i[ni human pregnancy the appearance of

“hair is usually observed in the ifth monyy,

Chof)ﬁ_: the correct answer fram the npli(}ns;

givcé&'bc]ow '

D.

E.

(2) A and E Only
(3) B and C Only
4) B, C, D and L2 Only

17_English |
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160

eilea sloonolic beyerags momle of non-
) Produced by yeast?
(1) Rum ~(2) Whisky '
(3) Brandy ¥~ Beer

|
Given below are two statements :
Statement I : In the RNA world, RNA is
considered the first genetic material evolved to
carry out essential life processes. RNA acts as
a genctic material and also as a catalyst for
some important biochemical reactions in living
systems. Being reactive, RNA is unstable.

Statement 11 : DNA evolved from RNA and
is a more stable genetic material. Its double

" helical strands being complementary, resist

changes by evolving, repairing mechanism.
In the light of the above statements, choose the
most appropriate answer from the options
given below : LT
(1) Statement | is-incorrect but statement 11
is correct
(2~ Both statement | and statement I
are correct
(3) Both statement-] and statement Il
are incorrect ;.
(4) Statement [ is correct but statement 11
is incorrect ¢
e

Given below are two statements :
Statement 1 : Transfer RNAs and ribosomal
RNA do not interact. with mRNA.

Statement 11 : RNA interference (RNAI) takes

place in all eukaryotic organisms as a method
of cellular defence.

~In the light of the above statements, choose the

most appropriate answer from the options
given below I

LV Statement 1 is incorrect but Statement II
is correct '

Both Statement:l and Statement 11

are correct

Both Statement 1 and Statement [l

are incorrect

Statement 118 correct but Statement I

is incorrect

(2)
(3)
)

[Cuntd---



161 Which of the following diagrams is. correct
.~ with regard to the proximal (P) and distal (D)
tubule of the Nephron.

P . D

NoQl peop - Nad N
” ~ ﬁMl
P 1 D

HCD.; Narl NaQ H:O HCU;

0l I

3
P 1 D
X aCIH:‘?'{NaG HO HCO,

i 1
3) {i‘L'
H* NH; g m

%_g:;

|
P s D

HOD e 10 110 Tico

(4)
] TN

27
L)

(2)

g:% What is the pattern of inheritance for polygenic
trait? £

4

(1} X-linked reéessive inheritance pattern
() Mendelian inheritance pattern
(3) Non-mendeliah inheritance pattern

(%) Autosomal dominant pattern
163

rich layer called =
(1) Aleurope lﬂycr
(2) Coleoptife
(3) Coleorhizg ”
“y lmcgumum-

47_English ]
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X

165

166

fatch List I with ]_.:ist 11 :
% List I

N.
List I Y
Chlorophyll 2.4l Yellow-green

Chlorophyll b 11 Yellow
Xanthophylls;‘-j-.__:lll. Blue-green

oS 0w >

Carotenoids J‘IV Yellow to

posni

o= Yel]ow—orange
Choose the option with all correct matches.
(1) A-L B-IV, C-IIL, D-IT
(2) A-lIL B-IV, C-11, D-]
(3) A-lll, B-l, C-I, D-1V
(4) A-L B-II, c-[i{;p-m

Which of the following genetically engineered
organisms was uséd’by Eli Lilly to prepare
human insulin? =+

(J:}(_Phage .'”‘1(2) Bacterium
(3) Yeast M Virus

Which of the following

¢ 2 are the post-
ranscriptional eveiits in an eukaryotic cell?

Y Tr_ansport OF:I;EE-mRNA to cytoplasm
Prior to splicipg'
B. N

Removal of infrons and joining of exons.

C. . L
Addition of n;iu"ﬁ:;sthyl group at 5° end of

hnRNA

D. Addition Of’-iic;:;ine residues at 3” end of
hnRNA, |

E. TR
E;S‘ss-lmlrlnggﬁf two complementary

Choose the ¢q
Eiven below .
'F .

M ¢pE Only +
W A, B, C 0n]_y .f'\
(4) B’ Cs E Dnlx'

rrect answer from the options

| Contd...



170 What are the potential drawbacks in adopti
option

Y .o ] with List~ II. . :
167 Match LIStI \ List - II ' of the IVFF method?
List - ; . s
A. Centromere L. Mitochondrion A, High fatality risk-to mother
i : i Cell division . = _
g. Cilium _ . 3. [xpensive instruments and reagents
Cristae 1. Cell movement ('
El C II‘ nbrane’ [V 1’!m~a;:~|:u|ip£d C. flushand/wife necessary for being donors
~ Cell membrane : :
Bilaycer D. Less adoption of orphans
o awer from the © tions - et
Choose the correet answer from p £ Not vailable in "
given yelow &
o A-lL B-ILL c:1.'D-1V F.  Possibility that the early embryo does not
@ AL B-11. C-Il. D-1V survive
Choose the correct answer from the options

3) A-L B-1. C-1V, D-111

H3A4uBJLCmLDJ given below :

(1) A B, C, E, Fonly

168 Match List 1 with List I :
' (2) B,D,F only

List-I List-11

A, Alfred Hershey I Strcptoco'ccus c(j/j/A, C.D.F onIy,' .
and Martha pneumoniae o
Chase | 4) A, BCD only

II. Densely packed
and dark-stained (3

v 1Il. Loosely packed 174 Whi.Ch one of th? fo”o__wing is:41.£Xa0

_ and light-stained gk ex-situ conservation?

IV. DNA as genetic -
material (2) National Park '

confirmation L
answer from the options (3) Wildlife Sanctuary

B. Fuchromatin
C. Frederick ple of
Griffith

D. Heterochromatin, (1) Protected areas

Choose the correct
given below :

(1) A-lL B-11, C-1V, D-l
(2) A-ll, BV, C-1, D-111 B

(4) Zoos and bolani}:gl gardens

172 A specialised membranous structure in

(3 A-1Y, B-1L C-1, D-I1I
T4y AV, B CL DI . , '
) - a prokaryotic cell which helps in cell wall
. formation, DNA replication and respiration
169 Which chromosome in the human genome has is
the highest number of genes? . .
(N Endoplasmic Reticulum

(1) Chromosome 10
.ome A
2 Chromoson A L}}/l\'lesosomc

(3) Chromosome ¥4 l
(3) Chromatophores

() Chronwsomcl
(4) Cristae
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173

174

FcoRl
p Galacios idase

In the above represented plasmid an alien piece
of DNA is inserted at EcoRI site. Which of the
following strategies will be chosen to sclect the
recombinant colonies?

Ly~ Blue color colonies grown on ampicillin
plates can be selected.

(2)

Using ampicillin & tetracyclin containing
medium plate;

(3)
)

Blue color colonies will be selected.

White color colonies will be selected.

What is the name of the blood vessel that
carries deoxygenated blood from the body to

the heart in a frog ?

(1) Vena cava .

)

Aorta iy

L L |

(3) Pulmonary artery

(4) Pulmonary vein,

“:'hlch of following organisms cannot fix
Nitrogen? ¥

A Azotobacter B. Oscillatoria

C.  Anabaeng
E,~ Nostoc

given below:

_U/}/E only

(3) D only

D Jolvox

orrect answer from the Options

i —

“42) Aonly
+1(4) B only
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176

177

178

179

180

o to find out the characteristic of 4
d animal. a researcher did the
tanimal and observed a cavity
f mesodermal tissue toward.
the body wall but no mest::dermul tissue
was nhS:':r\'ed towards the allnlentar_\' canal,

What could be the possible coc}i_njme of that

animal ?
(1) Spongococlomate

While tryin
newly four
histology ot adul
with prcst‘llce 0

& ¥

(2) Acoclomate =
3y pscudocoelomate

(4) Schizococlomate

Which one of the following statements refers

1

to Reductionist Biology? ot
%)

(1) Behavioural approach to_study and
understand living organisms.. |

(2) Physico-chemical approach ito study and
understand living organisms.!

(3) Physiological approach to“study and
understand living organisms.
. .‘I‘_:

(#y"Chemical approach to study and

understand living organisms.

_I'iplphytcs that are growing on a mango branch
s a/:l example of which of the folfowing?
(J} Amensalism L

(2) Comm?niﬂalism
(3) Mutualism

(4) Predation
following phytghormones
::E‘omolcs Nutrient mobilization which helps in
¢ delay of Jear senescence in plants?
() Cytokinin (2) Ethylene
@7 Abseisic aciq  (4) Gibberellin

L4

Which one of the

111:2e “omplex 11 op mi[OCthdlilf?jl electron
; nsport chaip g also known as ..
Ay NADY dehydrogenase

o

(2) Cytochrome b N
3 o 1 L)
.E4) Suceinage dehydrogenase " _
) C}TOChrnme ¢ oxidase i
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